HW - MATTER II
NAME______________________


1.  Label each of the following as a physical property (PP), physical change (PC), chemical property (CP), or


chemical change (CC):


_______ a.  You place some liquid water in a cold 
________ f.  You break a pencil.




environment, and it then




becomes a solid.


_______ b.  Carbon dioxide has a freezing point of
________ g.  A pencil is fragile.




-78.5oC.

_______ c.  Paper is very flammable.

________ h.  The density of gold is 19.3 g/cm3.

_______ d.  Iron is very susceptible to rusting.
________ i.  Your living room window broke.


_______ e.  You place some baking soda in

________ j.  You place some red Kool-Aid




water, and bubbles form and the


in water, and the powder dissolves




powder disappears.



and the water becomes red.

2.  The sun is estimated to have a mass of 2 x 1036kg.  Assuming it to be a sphere of average radius 6.96 x 105km,

calculate the density of the sun in g/cm3.
3.  What is the mass of a block of osmium with dimensions of 5.00cm x 4.00cm x 2.50cm?

4.  Say you have an irregularly shaped object with a mass of 148.92g.  To find its volume, you use the water dis-

placement method.  If you begin with 25.0 mL of water, and its level rises to 54.3 mL upon placing the solid inside, what is the density of the solid?

5.  A student measures the mass and volume of samples of three liquids to be:

	Liquid
	Volume (mL)
	Mass (g)
	Density (g/mL)

	A
	48.5
	37.2
	

	B
	12.8
	174.1
	

	C
	64.7
	71.2
	



a.  What is the density of each liquid?


b.  Assume these liquids do not mix.  If the samples are poured into one container,  in what order, from



top to bottom, will they settle?

6.  A 15.4cm x 8.3cm x 6.4cm box with a mass of 146.83g is floating in a swimming pool filled with water.  How


many marbles (each weighing 12.6g) can be placed inside the box before it sinks?  How many marbles


could it carry if it was floating in a pool of alcohol?

7.  A 25.0 L helium balloon floats up to the ceiling.  At 12:00 noon, it springs a slow leak that lets 1.00 L of helium


leak out each hour.  At what time will the balloon begin to descend to the floor?  (The rubber that makes up


the balloon weighs 8.20g)


